Bleach Disinfection - Answers

Problem 1

Lbs = ppm x 8.34 x MG
% purity

Lbs=50x 8.34 x ((.785 x 1 x 1 x 3000 x 7.48 gal)/1,000,000)
.0525

Lbs=50 x 8.34 x (17615 gal/1,000,000)
.0525

Lbs=50 x 8.34 x 0.018 MG
.0525

Lbs=7.5
.0525

Lbs =142.8 or 143

Gallons =143/(8.34x 1.2) =14.3

Problem 2

Lbs = ppm x 8.34 x MG
% purity

Lbs =3.3 ppm X 8.34 X 16.8 MGD
.0825

Lbs = 5,604.48 Ibs.

Gallons of chemical = 5,604.48 lbs.
(8.34 X 1.8 SG)

= 5,604.48 lbs.
15 Ibs/gal

= 373.6 gal. sodium hypochlorite



